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Read the following passages and respond to the questlons that follow each
passage. Your responses should be based on the passages.
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Questions number 1 to 5:

Between the thirteenth and the sixteenth century, European feudal lords
accumulated large amounts of money by exploiting the serfs. The accumulated capital was
put to newer uses. They gave financial support to explorers who discovered new lands and
routes. Columbus crossed the Atlantic Ocean and discovered the New Woarld. Vasco da
Gama circumnavigated the African continent and discovered a safe trade route to India and
the East. One of the ships in Magellan’s fleet returned to Europe and proved that it was
possible to circumnavigate the Earth. Another use of the accumulated capital was the
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patrenization of great artists like Leonarde da Vinci, Michelangelo and Raphael. These
artists revolutionized the arts of painting and sculpture and represented the human body in
great detail. Artists like da Vinei also studied anatomy as it would help them represent the
human body accurately in their art.

Anatomy was not the only science that evolved in this period. Alchemists who
wanted to find the Philosophers’ Stone and the Elixir of Life ended up discovering various
new elements like Phosphorus and Chemistry evolved as a Science. Copernicus proposed
that Sun and not Earth, was the centre of our solar system. Scientists like Kepler and
Galileo used the experimental method to prove him right. They believed that the book of
Nature was written in the language of Mathematics. Apart from the various discoveries,
Scientific Method itself evolved in this period. Scientists propesed an idea, eonducted
experiments to prove it, recorded the proceedings of the experiment and kept the records
open for scrutiny by others working in the field. They believed that man had an almost
unlimited potential of changing the world for the better. Though the Church was immensely
rich and powerful, people began to discard a life of blind belief in destiny and a Spirit of
Inquiry evolved. The new ideclogy of Humanism emphasized the capacities and efforts of
individual humans. European scholars revived the classical Greek and Roman texts and
popularised them with the new technique of printing developed by Gutenberg. The word
renaissance means revival. All these interrelated phenomena are collectively called the
Renaissance.

1. Eedta Teu

H, U g T Fiigcars gean

a.  fufreas geffen sqa
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T T/

(1) @ (2) ¥, FafrE
3) ¥, qafr® (4) <3S
Renaissance means

a. Beginning of Greek and Roman literature

b.  Rise of the Spirit of Inquiry

¢.  Development of Humanism

d.  Decline of Church

(1) All of the above {2) b,candd
(3) a,bandc (4) bandc
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According to the above paragraphs, what are the factors included in Humanism ?
a. Importanee of individual capital

b.  Importance of individual efforts

c.  Popularisation of new printing technology

d. Beliefin human potential

Which of the statements given above are correct ?

(1) a,bandd (2) b,candd

(3) bandd (4) aandc
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Which of the following statements is/are correct ?

a.  Earlier the Earth was considered to be at the eentre of the solar system.
b.  The earlier rich church got impoverished later. |

(1) aonly

(2) bonly

(3) Neitheranorb

(4) Bothaandb
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From the paragraphs above, which of the following statements are true ?

a,
b.
c.

d.

(1)
(2)
(3)
(4)

Scientific development is closely connected with the development of arts.
Study of Anatomy is a must for the arts of painting and sculpture.

Changes in the printing technology played an important role in bringing about
the European Renaissance.

Capital can initiate development in arts and sciences.
All of the above are true.

a, cand d are true, b is not true.

a, b and ¢ are true, d is not true.

a, b and d are true, ¢ is not true.

5. & fqgmmh St @ omed ?
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9.

(1)
(3)
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Which one of the following statements is/are true ?

a.
b.

(1)
(3)

Gutenberg invented the printing press.

The serfs were exploited by the European feudal lords to discover new routes.
a only (2) bonly

Neither a nor b (4) Bothaandb

LT HRTATS! ST / SPACE FOR ROUGH WORK



www.dompsc.com

A 7 W05
TPAHATH 6 10 ¢

ArET FE Faiea wo omaw. e gae gwwdie T © oy T
Tifeda 1 R At T @ Geheun1 Ayf wrere TEfvd wel. Sffda, sy e
U WY, TYAT AT GG W= =1 HHd! TS quTed g1, Feieqwd 1215 a6l
“Urreptel” A AW SEE@e AN HIIE THA FEl. JgIIHA TSFae=l FFUHERIER Fy-
JErEa # eI FTUTE oA, 1628 mie fdvm oTw gy o 1689 M| fa@ o
wew 3w A T oo, shfeR TR o smfkle genm s
ST A THET gah A0 71 € & A,

1948 7¥A TYH TNHTA G gl HERATHT MYq Hen A0 &re and W™
T s slan @ SR 5 g B, geTeie T AIREnEiE wgarE
JUE T AT TRV ITAIA ST el R T g wnma selen amea.
YAl AW 32 FHR TR g9 W YN 9 BV ARG fGA@ ongd e seered
A IRg alw e 38 AT 3, iAWY ge 9 gEmMigge 1993 XY
AT | g6 G0 HES TR F0Ed AN, 41 HREIR T 9 TG 9Hd g4
IS TG O AT, HeE B Seded Wied™ TR el U9 9Me &%
TGS TR Fe T8 Timy weha.

T wruf T T R R aha e s ol e S #

TR JUM eI i gm e e . fema sndaw smed 8 7 1992 W
fafew seicrean ot “firfém " =1 o fofeen B, @ g S s gaen s
JeiE HeTl BT, TWdedT Tguid s-aTen Juaiendie muiassa St mi wRve st g g sheft
Tieft. firegor 2 wfEdATe WS wva R, = Aregd Raa ol 3w Tedieor a
sgdre ATRr=Al fesbell @ wiee A A quie it fasive: Afedined sfeaifas
FEGE IR T T R

THTeaT FHIATE! SR / SPACE FOR ROUGH WORK P.T.O.



www.dompsc.com

Wob 8

Questions number 6 {o 10 :

Human possesses some rights given by nature itself. The concept of “Human
Rights” is developed in modern era with the object to provide them to the citizens of
all countries around the world. Human Rights include right to life, livelihood
alongwith speech, association and religious belief. During 1215 the law known as
“Magna Carta” was passed in England. Since then the concept of control over the
rights of the State took birth. It was more explained due to the Petition of Rights of
1628 and Bill of Rights of 1689. The object behind the American freedom and
American declaration on fundamental freedom was also to protect the human
rights.

In 1948 the Universal Declaration on Human Rights was made by the United
Nations and at the same time framing of the Constitution of India was going on
due to Indian Independence. The framers of the Constitution were influenced by
the provisions of this declaration and hence some of the provisions of the said
declaration are made in the third part of the Constitution of India. As per Article
32 of the Constitution, if the human rights which are given as fundamental rights
to the citizens get violated, it can be challenged in the Supreme Court. Due to
international pressure and developments the Protection of Human Rights Act was
passed in India in the year 1993. The National and State Human Rights
Commissions were established by this Act. If human rights are violated, recourse
can be made to filing a complaint to the National or State Human Rights

Commission.

The rampant violation of human rights of women can be seen in India. Though
the Constitutional provisions regarding human rights of women are made
alongwith special laws made by Government, due to social mentality of male
deminance, women are given secondary status. Well known economist Mr. Amartya
Sen had written an article “Missing Women” in a British Journal in the year 1992,
where he mentioned that ten crore women are lost. Lost means they were killed
before taking birth as female foeticide. Education is a big tool for change. Economic
and social empowerment of women can be done through that means. The decision
given by Supreme Court in Vishakha case has not been yet implemented at the
major places of employment, hence the awareness of women laws is essential in the

society and especially among women.
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Choose the correct statement.

a.  All human rights are legal rights.

b.  All human rights are fundamental rights.

¢.  All fundamental rights are human rights.

(1) Only ais correct (2) Both a and b are correct

{3) Only cis correct (4) All are correct

7. et s Rum @ g 2
¥ foam aedl Tk Sooee Se e frgw Og weR.
¥, @R Yan R afienfives wrgiasn wfiw IUE sweaw @
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Which of the following statements is/are correct ?
a. Education of women alone can prevent violation of their human rights.
" b. Women should be more aware of the women laws than anyone else.
(1) aonly (2) bonly
(8) Neither anorb (4) Bothaandb

8.  Etd S RwE dm e 2
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Which of the following statements is/are correct ?
a. Violation of human rights can immediately be challenged in the Supreme

Court.
b.  The Americans got independence only to protect the human rights.
(1) aonly (2) bonly
(3) Neither anorb (4) Bothaandb
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(1)
(2)
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All fundamental rights are

(D

(2)

(3)

{4)

Part of universal declarations
Enforceable by Supreme Court only
Given to all persons and they can challenge its violation

None of the above

10, TR FelR IS FS T

{1)
(2)
{3)
4)

T AL TAR o
Afvess FrigwmeaT=aAT MEAATg
g ~aaTcrTel et
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Women empowerment can be done

(1)
(2)
(3)
(4

by making strict laws
through universal declarations
by Supreme Court decisions

None of the above
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Questions number 11 to 18 :

It is also good to love: because love is difficult. For one human being to love another
human being: that is perhaps the most difficult task that has been entrusted to us, the
ultimate task, the final test and proof, the work for which all other work is merely
preparation. That is why young people, who are beginners in everything, are not yet
capable of love: it is something they must learn. With their whole being, with all their
forces, gathered around their solitary, anxious, upward-beating heart, they must learn to
love. But learning-time is always a long, secluded time ahead and far on into life, is:
solitude, a heightened and deepened kind of aloneness for the person who loves. Laving does
not at first mean merging, surrendering, and uniting with another person (for what would a
union bhe of two people who are unclarified, unfinished, and still incoherent ?), it is a high
wTd] HMIIS! AT / SPACE FOR ROUGH WORK PT.0.
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inducement for the individual to ripen, to become something in himself, to become world, to
become world in himself for the sake of another person; it is a great, demanding claim on
him, something that chooses him and calls him to vast distances. Only in this sense, as the
task of working on themselves (“to hearken and to hammer day and night”), may young
people use the love that is given to them. Merging and surrendering and every kind of
communion is not for them (who must still, for a long, long time, save and gather
themselves); it is the ultimate, is perhaps that for which human lives are as vet barely large

enough.

11, FESE EIER go= soaien Y0 0 F HM TR HRY,
A, FoEE e a1 GaiEE Sfi@ gEen et 39 w% w9 AT
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Fiteehl U} SR/ A TR/ 2
(1) ®aq« 2) &=
(8) F 90&d g9 (4) ® g

According to writers’ thinking to love another person is a difficult task because
a. one cannot love another person without any purpose or aim.

b. it is the final examination for which human being prepares oneself after doing
all other tasks.

c. it takes a long time to learn it and it is difficult to work with courage and
perseverance.

d. it requires a person to gather all his/her energies and strive for completing all

other tasks.
Which of the above statements is/are correct reason/s ?
(1) bonly {2) bande
3) Allbuta . 4) candd
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How does one learn to love ?

(1) Person has to remain alone for a long time or may be for all life for developing
capacity to love.

{2) Person learns to love by avoiding merging, surrendering and uniting with
another person,

{3) Person learns to love by working hard as if she or he is preparing to appear for
the final examination.

(4} Person learns to love by doing sacrifices and working hard for other persons
who are needy.

13. “grEEd WA sEy favw w0 v 3 w0, 3@ dws fafga as cen sa o

I 7

(1) T A S WA 3 e gEaTd fatgesn aae, W gaida w0 Jog fha
SEART THTEH g1 Aok Yfehararen oy wet o

(2) @H guag AR H =R Wa:¥ afwrd fias gaen syt anfia e & fohan
o 9 @] TE.

(3) @S gogd ITEET ol FEa; s qRYET s FET gl At B 3w e,

(4) TrEHr= IR I AR FT g T A AR I A degl df ga SFhieT
A A S w37 gEAT saehiel SR BUIUT] 39 k.

What may the writer be wanting to say when he writes, “to love means to become
world in himself for the sake of another person”?

(1} Writer contradicts with his argument that love does not mean merging,
surrendering or uniting with another person.

(2} Writer suggests that a person should surrender his or her personal life for
another person so that she or he could be happy for ever.

(3} Writer might be suggesting that a person should expand her or his perspective
towards another person unconditionally.

(4} Writer argues that when a person loves another person then she or he

considers that she or he possesses that person and therefore she/he can keep
him or her happy throughout life.

FHET HFRTATS! AN / SPACE FOR ROUGH WORK P.T.O.



www.dompsc.com

W05 14 A

14, TNEF THEH I T HTE WU R0 Sl HANHR GEAET YN HEE WAW RS
wehe T 7

(1) e UH0 9 Tu Wid Qe s 39 e 9 T geen saehiat Y0 et
|E3 HA.

(2) TEYED UH0 & TV T1E HIE0] SRl €d:T4] AT SIehlad 6d:HTHa e SgIIdl
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(4) TEHIEF VHAT § YU HTE HHAT Sooiel Wa.aEd e seEe T e
M FHOGA ANTON=AT &A1 ST SOl 763 gl ST,

How will young persons become capable of loving another person by hearkening and
getting hammered ?

(1) Hearkening and hammering makes a person capable of learning to love and

then love another persdn.

(2) Hearkening and hammering helps a person to look into one’s inner self and

become aware of it and attain perfection by spending time alone.

(3) Both persons aiming to love each other should become aware of their own inner

self and by working hard they expand their world for each other.

{4) Hearkening and hammering might be helping one to be aware of cne’s self and

acquire all capabilities required for loving another person by self developing.
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(1) T Tl FUE A .

(2) ¥ 93 ISA1 Ta Ha{Hga AR,

(3) H ¥ afda o,

(4) T e T4 safidE o,

Writer writes, “... for learning to love one needs to spend long time or may be life in

seclusion ...”, This means that he assumes that, '

a. it is not possible to learn things in the presence of other persons as they
mfluence our thoughts.

b. in seclusion a person gets time to reflect and examine his or her personal
experiences.

¢.  seclusion protects a person from other persons nurturing different meaning of
love, that is not matching with her or his meaning of love.

d. Seclusion allows a person to listen carefully to one’s inner voice, widen one’s

world for becoming capable of loving.

Which of the assumption/s is/are implicit in the paragraph ?

(1)
(2)
(3)

(4)

None except d is not implicit.
All but ¢ and d are implicit,
Only b 1s implicit.

All except d are implicit.
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HFEE=A TR T MG SR HeEH IMMeA. I, 55 P dhaem B 25 Y a=med
WEH SFgea HT G Suemud &6 o0 ewad e, e w91, o, fom, wew smm
agfaa oA favmar e snfu foswmere smeEm @ oTEE, SRS ATEfoE TINgId STgsheredn
Hieara) T igas=ar atd non § qrEdE " AR,

T99%A (Innovation) B9 91 He4d TEERAS gl HHR FUGEER IW 38 § a9
FoaeEld G4t g Gl e e g9 R, SeemIea FETERTdte WSS I,
Tfevaqel saaeTa® wfemm fhar wfrar anme sdwmT TRTiERET A9 T A U gEw S0 ST |
HTHTEAHRTG AT he Fga et e fomm sfrt aw wewrht g s,

Hwﬁmwﬂawmﬁﬁmﬁmwmsﬁu%‘mmam
TELU 9 FEEHETE g3 sUe Pl qatt @l sweicur wH 3w s gifeeg §
e fEadigy Tt e 71 .

Rart me RS, qrfte Frdiat cyea TaEn @ @A A e anfiers s
fomt sfiviar=ar georpl s Al w foan s AfeFw 7 wsww T Al = e @R @HER
AR AWl 1 AR, WRAT §1 97 FERdT AR AE. @ HYed e HEER 9
TRGERA a3 THE AT AEEEE TSR T Higd ST T AR, I AT a6
ITAIEn gfEenro ayaT AR ATE,

Hreshaie aNel! Mieda 9 wain wasur anft vatarogear wvad wefi smvel T @ Fgast i
A emef o T FEwAEEE gEh A v wfteius wreEa faewe gfenm i w5

.
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Questions number 18 to 20 :

Innovation is going to be critical for India not only for growth and competitive
advantage, but also to ensure that our future development is sustainable and inclusive. Qur
country faces a range of unmet needs related to critical areas such as health, education,
agriculture, energy and skills. It also faces immense challenges related to demography, with
55 crore below the age of 25 for whom opportunities must be provided, disparity, driven by
the multiple deprivations of class, caste, gender, and region, and the challenge of

development, with the urgent need to lift crores of citizens out of dire poverty.

Innovation is going to central to providing an answer to these most pressing
challenges and for ereating opportunity structures for sharing the benefits of the emerging
knowledge economy. Affordable solutions, innovative business models, or processes which
ease delivery of services to citizens will allow more people to join the development process

and also enable looking beyond the conventional way of doing things.

However, our unique needs call for a new model of innovation that focuses on
affordability and inclusive growth and lifts people at the bottom of the pyramid out of
poverty and deprivation. For decades, the trajectory of innovation has reflected the
priorities of the developed world focusing more on the desires of the rich, and directing
ecosystem of talent and capital to satisfy them. India cannot follow that path. Our
innovation must instead focus on the poor, and their most essential wants. The old
consumption-intensive approaches cannot work, given the sheer scale of our needs and our
vast population. Instead our innovation needs to be frugal with scarce resources, affordable
for our poorest citizens and environmentally sustainable. The work hf India’s Naticnal
Innovation Council reflects this thinking. Their effort has been aimed at creating an Indian
model of Innovation, of the people, by the people and for the people. Only through this
inclusive approach where people are beneficiaries in knowledge creation and generation can

we hope to create more sustainable models of development.
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16.  YRAK HIY fIhIamn FHEEE dgearT g HR
(1) YIRG T $INGUE 97 302 T I TRAYATET 31T 3.
(2) T EETRET SO E& 50% UM I T €.
(3) wraE Hiwwed @y Wl 3R 9 dgaiy) g e @t one,
(4) & AHEEH G4 IuART HET U AT E.
Skill development programme is important for India because
(1) Indiais an Agrarian Economy with a lot of unmet needs.
(2) Services sector contributes around 50% of the Gross Domestic Product.
(3) India has a large population, the majority being in dire poverty.
{4) Young population needs to be provided with opportunities.

17. 9@ & fqum 9 ang ?
. AT el e AldeH STl THERvST B ST
(1) SFa A (2) HHd ¥

3) FUEE T (4) TR ATT

Which of the following statements is/are correct ?

a. So far we have been meeting the needs of developed countries only.
b.  Qur present model of development has degraded our environment.
(1) aonly (2} bonly

(3) Neither (4} Bothaandb

18, YEiedeht o faum Qv ang 2
H. Fowy FAFEEE 90 i) § Sieeial a hige ST g6,
¥  Fifta Figa siftrerie Seaearn sy Fen wE.
(1) Wwa&d (2) wFdd

(3) IR T (4) THATA

Which of the following statements is/are correct ?

a. For an all-round development we should concentrate on our poverty and
population.

bh.  We should try to produce more and more with less and less.

(1) aonly (2} bonly

(3) Neither (4} Bothaandb
FHTLT AT SN / SPACE FOR ROUGH WORK
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19. Ut wive faam g ang ?

W, T sman s fasm Wy weRd e

4. o e T fahe wew o

(1) % A (2) THWS

(3) R e 4) THFATT

Which of the following statements is/are correct ?

a.

b.
(1)
(3)

Without innovation, we cannot progress.
So far the development in India was not inclusive (all encompassing).
a only (2) bonly

Neither {4) Bothaandb

20. YEienNEd wvR faum FHEE R 2

H.

ER

(1)
(2)
(3)
(4)

H A A TFAHE [E AG [ ToEal.
AT HEWRTIE 3TV WTYara faehid g ¥k
T A

Hered ®

HIUE! el
TR AT

Which one of the following statements is incorrect ?

a.
b.

(1)
(2)
(3)
(4)

We have not been adequately innovative so far.

Unless the people join in, we cannot have sustainable development.
a only

b only

Neither

Bothaandb
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W05
9T AT 21 a 25 ;

WEE O A GEER SR (Y6 st sgaw qun) sfor agewiada T (ge).
gETgTemge df Sftdedl I1E TR Tk O HY A JEAE. aEYH BV faueT wua Eev 8
(w& 6 g). vl TR Foa vl fim (S wiEie T wRa) Juamad O s wed. T

TaEtE sEir FwfiEdt wea fmn Fr e dIienes arE@ @M geie sEsy
TR RS (I, TiEwe o) fSfEta $9 wm. e et e 3
Fo IS T S0, TG A TG Tepat s,

TITR: TH 9eaR<aT THOT THyoe 39e9F 39128 Sel S 1) 8l snfcawRn aified 2
SeqiEArEN fFRfadt A I, 8 gafouwRR v (REneTEl ote gRadl), hade fehan
T Tra 3 fafsie 98 atfim 5 oam +, 959 .

T & fr Aer weamTdier guewe R gnicHwTEN sffteal HRM s, & o wRM om TR
WYl GEhe 9TF R, ¥ W gured o fRfiwmedl sugd awear gewra wdEf i
% ¥ wigd Ferd i s Frgre e TEHTER A

ferthgR P qro (G AR YRS WEE AR dd). @ gase fagd
feufash T TR FedT8 HF9IIETH HEA Bl U Soidgeiod Ymma Afciend TTHd &4 deH
oI TR HA. B HA] IOTA WA INEA a9l A Hro foea fSufow &9 g gem
tegelid) fragen St SaEA (9% 3 Aa Ry wead Wy wRuEey 3Ry wed T, @ wbed
e 99 oy fage 49) 0@ 9 semmEele fage YR aie seudrenr o 3w 2R g ot fawa
Sqrveiver sl weifuel 919,

Questions number 21 to 25 ¢

Aerosols are dispersions of liquids in gases (like fog and many sprays) and of solids in gases
(such as smoke) : the particles are often large enough to be seen with a microscope.
Emulsions are dispersions of liquids in liquids (such as milk).

Foedl HETISH A / SPACE FOR ROUGH WORK



www.dompsc.com

The preparation of aerosols can be as simple as sneezing (which produces an aerosoll.
Laboratory and commerical methods make use of several techniques.

Chemical precipitation sometimes results in a colloid. A precipitate (e.g. silver iodide)
already formed may be dispersed by the addition of a peptizing agent (e.g. potassium
iodide). Clays may be peptized by alkalis, the OH™ ion being the active agent.

Emulsions are normally prepared by shaking the two components together, although some
kind of emulsifying agent has to be used in order {o stabilize the product. This emulsifier
may be a soap (a long chain fatty acid), a surfactant (Section 23.11), or a lyophilic sol that
forms a protective film around the dispersed phase. In milk, which is an emulsion of fats in
water, the emulsifying agent is casein, a protein containing phosphate groups. That casein
i1s not completely successful in stabilizing milk is apparent from the formation of cream on

the surface : the dispersed particles coalesce into oily droplets which float to the surface.

Aerosols are formed when a spray of liquid is torn apart by a jet of gas. The dispersal is
aided if a charge is applied to the liquid, for then the electrostatic repulsions blast the jet
apart into droplets. This procedure may also be used to produce emulsions, for the charged
liquid phase may be squirted into another liquid.

Colloids are often purified by dialysis. As in the discussion of Donnan effect membrane (e.g.
cellulose) is selected which is permeable to solvent and ions, but not to the colloidal
particles. Dialysis is very slow, and is normally accelerated by applying an electric field and
making use of the charge carried by many colloids; the technique is then called
electrodialysis.

21.  SATTAYWIET € 1 — =47 Hadi affs Fern e weka
(1) Ho=hra &=
2) foem gashim &
(3) IA[hgshE &
4) 0 TR TR
Rate of dialysis can be enhanced with the help of
(1) Magnetic field
{2) Electromagnetic field
(3) Nucdlear field
{4) Noane of the above
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W05 22
22, UEH (FAETH) TTHIT B TENe TR SO JHE Ig4T dod a9 9% T ?
(1) == (2) I
(3) wHa (4) FHEHIBRRE
Emulsions can also be prepared by using the principle similar to the preparation of
(1> Sols (2) Gels
(3) Aerosols (4) Emulsifiers

23,  gureAl TEWHTIEL TH BV SR &

(1) A s , (2) W ATEH

(3) P whme (FRE) srww (4) THeigeRTe TR

The cream obtained on the surface of milk is

(1} dispersed proteins (2) dispersed fats

(3) dispersed casein (4) dispersed carbohydrates

24. WS TYEIRTA ZaEUrAT IFFGT TIEA TaR gard
(1) TEETS U ZaTRE TEEE e
(@) 73 AP AT A g s Tt iR Sem
(3) Za o v A FIYEHad Ao iy iR SeaH
(4) St FoRE @
Aerosols are dispersions of liquids in gases formed by
(1) Tearing apart a spray of gas with liquid
(2) Tearing apart a spray of mixture of gas and liquid with solid
(3) Tearing apart a spray of mixture of liquid and solid with gas

(4) None of the above

25. & AfFHal AT AT sneshad] SeRuTear SERdd wrdem sred

(1) TEGNA AHAH (2)  grrgifedet AAW

(3) BEGeH T (4) =0 e T

In the process of alkaline peptization of clays _ is the active agent.
(1) Hydrogen radicals (2) Hydroxyl radicals

(3) Hydrogen ions (4} None of the above
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U9+ HHTE 26 9 30 ;

W05

AT qE

HATUP TAHRONE I ACATGET TR, SFhIed, TEoS 1914 =1 AR AqWgia geu
e SIS GEAT [ANeN QihEl RIACl G, CIRATE] qwWide) Wt Wy wher § e
TSRFRUTAT ST qefishgel OFel 7 ol 9y @cir=a 78 SqaerisR aie e dauam
ITER THE F T FIBA AR AFS A@dT= FE HlowEE T e, frar wo Gdam fia
TEY SR 91 9 A e R I3 §F e @ fée send g waifie B om. whh
waast s vt el awd wwmEEHEh Sofie k. Wy o Sfiesh sferd gege: s
TSI AU g AW SN HIER Jeadh d@iedd! qidfife o gefiindt atw uim FA
Fergrl faee (aft oure) Seeam onftt o R gt awed ot sifgdia awqe sl
TSAGZANE B, W I HAYAEHTF TR sU9eh Hewd YT shied SIT=a g¥ ik quy ey
TS qgBSWA HE, TO0H ATAET TSWIgar gEag NIW Fe I[ Togal. I 8 e Teae:
AN FW FHES AF B, 0 1 AT AWYS TSR0 § Tofods AR w8 A e,
STER TSN FeTer el S $igd w9 fba1 3 w@ wid s e mfad snfi
TEARIY A T 3Tl wEETIRT FooTd ToEd!.

Question number 26 to 30 :

The beginnings of a science

The science of international politics is in its infancy. Down to 1914, the conduct of
international relations was the concern of persons professionally engaged in it. In
democratic countries, foreign policy was traditionally regarded as outside the scope of party

politics; and the represéntative organs did not feel themselves competent to exercise any
AT HHIG W / SPACE FOR ROUGH WORK P.T.O.
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close control over the mysterious operations of foreign offices. In Great Britain, public
opinion was readily aroused if war occurred in any region traditionally regarded as a sphere
of British interest, or if the British navy momentarily ceased to possess that margin of
superiority over potential rivals which was then deemed essential. In continental Europe,
conscription and the chronic fear of foreign invasion had created a more general and
continuous popular awareness of international problems. But this awareness found
expression mainly in the labour movement, which from time to time passed somewhat
academic resolutions against war. The Constitution of the United States of America
contained the unique provision that treaties were concluded by the President “by and with
the advice and consent of the Senate”. But the foreign relations of the United States seemed
too parachial to lend any wider significance to this exception. The more picturesque aspects
of diplomacy had a certain news value. But nowhere, whether in universities or in wider
intellectual circles, was there organized study of current international affairs. War was still
regarded mainly as the business of soldiers; and the corollary of this was that international
politics, was the business of diplomats. There was no general desire to take the conduct of
international affairs out of the hands of the professionals or even to pay serious and

systematic attention to what they were doing.

26, Y EAESH] B i AUTEE g 2
(1) fdw s
(2) arafrerdier o
(3) T, FTE IERET TEHETE GEh=a1 AU Sige Teiea Ui SiHal
(4) onfymng F=am

Who were more aware about international problems ?
(1) The British people
(2) The Americans

(3) People from countries like Germany and France connected to each other by
land routes

{4) Asians
TFeeq] BIFTEIET ST / SPACE FOR ROUGH WORK
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27.  SarEed v @ frswd w1 wRdl i gl SR e e

(1) wer Faoras

(2) eYErd

(3) TG ITH AT FEOM=AT T AT B

(4) TR et yhe Tae

From the paragraph we can conclude that the leaders of the working class in Europe

were

{1}
(2)
(3)
(4)

Great academicians

Idealist

A part of a group having a good understanding of war
Unable to grasp the reality

28. Wl 9 Fo/d fRumA s smR/a ¢

A,

.
F.
3.
(1)
(3)

fewre wasre iem v=E avine AT TEel SieUER SEdiE TE@ie AT
e,

Gd 3 UL IR () ud faum st ARa
FHT SR TR (4) TF & 7 % TR IR

Which of the following statements is/are correct ?

a.

(1)
(3)

Democratic countries studied international relations thoroughly in the first
half of the 202 century.

Labour movements decided the foreign policies of European nations.
US Constitution promoted the study of international relations.

Universities and intellectual circles had little impact on foreign policy
formulation.

Only a is correct (2) All statements are correct

Only d is correct (4) Only b and ¢ are correct .
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fergoan sroehTeaT dftedl S TERINES THIE 9N § & .

(1) b v

2 Tafy Geam

(3) GHFH

(4) Ywg @e=

In the first two decades of the 20! century, foreign policy was a realm of
(1) Political parties

{2} Legislature

(3) Soldiers

(4) Foreign offices

30.

3T gaEfaar &

9. Y dumed gk A # Feash T B,
. P FHTL JEAT: TOY GO sierd 8.
g ofehene gedfia 3@ WOg @ W,

(1) = 31 3TIfoT & SRR 3

(2) EA T M B T AR

(3) = foumy st amia

(4) T § WUR 3G

The paragraph suggests that

a. In general, Europeans were unwilling to work in the armed forces.
b. Foreign invasions were common in European countries.

¢.  European workers mainly talked about foreign policy.

d. USA had a well-developed foreign office.

(1) Only a and b are correct

(2) Only ¢ and d are correct

(3) All statements are correct

{(4) Onlyd is correct
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A 27 W05

T SRUTE 310 32

w3 R AW 39 o Sl SfEde iy Fremed 2o FEA R 3=
Frtur g, semond Tred. Mo v % fida e foin Few. s Blieom ke e
eadl, Waes g Ao e arft TR Tm I, e w2 IR sweenge @R g,
(T TRV ST deTdrd SiFd A, St 3 SRt S 98T ), e S9aRTrEA diH
AMATTRAT TGl 3TRT, SR TR0, TEEAS TAEET 1 SauEmae T, IEEE SR
gt fagdt sarymed e g 3G, §d AT SR, TER S T aRmE Sfaw et amter
A& hd, AT aTeedl fRRAIge 9 FHol GUASH HRUM Sia® IEAE OTR fUE AwhE wS
AT, S g fFvaT g glRigh wR Bid § @ Yeuge UnHd geedigs W gieledn
FEEReed Tyd e Jend we, 39, W 5. SRU AHoTd §ed), TN e 9|
AN YER, A Hega gad aEmE sERese e s AW v g, 98
EEie 3UTE q6 AETEIEl $9A TRV IT9T 30 Vi 3T Wg vedi fada wren ety fisfa
AT IHAHT 9 T B SIS WS AL aiiel A, WEA] A Adcied] hrEggdl g9l
T F=ay AemHier fordM an wewrn frrae wiRe T e dfaw twr fAfifdne) gewm
firsfta Tev T A1), TS Tl AT I SIS GETRY, F1E RATRIES 4 SRS
T e A1, TEfEde 36 9 e Tereiud qresedithhye & UikiER dAan el d1d e /
FUATHEN FFATIRYT 991 JII AR $97 TR0 FAterd HATR.

Questions number 31 to 32 :

A Dbiofuel is a fuel that contains energy from geologically recent carbon fixation, such
as plants. These fuels are produced from living organisms. Examples of this carbon fixation
occur in plants and microalgae.- These fuels are made by a biomass conversion (biomass
refers to recently living organisms, most often referring to plants or plant-derived
materials). This biomass can be converted to convenient energy containing substances in
three different ways: thermal conversion, chemical conversion, and biochemical conversion.
This biomass conversion can result in fuel in solid, liquid, or gas form. This new biomass
can be used for biofuels. Biofuels have increased in popularity because of rising oil prices
and the need for energy security. Bioethanal is an alcohol made by fermentation, mostly
from carbohydrates produced in sugar or starch crops such as com, sugarcane, or sweet
sorghum. Cellulosic biomass, derived from non-food sources, such as trees and grasses, is
also being developed as a feedstock for ethanol production. Ethanol can be used as a fuel for
vehicles in its pure form, but it is usually used as a gasoline additive to increase octane and
improve vehicle emissions. Bioethanol is widely used in the USA and in Brazil. Current
plant design does not provide for converting the lignin portion of plant raw materials to fuel
components by fermentation. Biodiesel can be used as a fuel for vehicles in its pure form,
but it is usually used as a diesel additive to reduce levels of particulates, carbon monoxide,
and hydrocarbons of diesel-powered vehicles. Biodiesel is produced from oils or fats using
transesterification and is the most common biofuel in Europe.
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31. 9dd Bl fGum T o ?

. T S, TaES @ SaueEiie FIW TG, 79 9 GEEE] §U a1 .

(1) ®H A

(2) wad o
(3) wrmad TR
(4) 3 3nior g =

Which of the following statement(s) is/are correct ?
a. Carbon fixation is a comparatively recent phenomenon.

b. Each of the thermal, chemical and biochemical conversions results in selid,
liquid and gas form of fuel.

(I Onlya

(2) Onlyb

(3) Neitheranorb
(4) Bothaandb

32. et wmuR Qe arg ey 2
g, A A ow Tl W firsg TR T
(1) ®&F A (2) w9
(3)  HIvRHEt AT 4) @ afn 3 A
Which of the following statement(s) is/are correct ?
A. Biofuels were not produced before.
b.  Biofuels are not obtained from non-living things.
(1) Onlya (2) Onlyb
(3) Neitheranorb (4) Bothaandb
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A 29 W05
U9 HHIH 33 37 :

Tt gfee - qfieE, oW - SR AT gt TRuimed Aned: R e
WEEEY  HEdE. 91 RN WEI=al el TRIEE AT o9d. odl, W ey e

(stability) ®¥ges ¥ ? Gmfas FETAER’ (social norms) Y IR IW TS FRA. IWHIH
s {1 WSS U HEe Hes Sl a1 aEdE.

Tfae Fram vt T e i e s gl w I e
e g, e | SdAfguIe FEn Swde. avedle ST T Saa| ufaard 9 ST gt 9
yfvet B g9 U] AT, 1 WIS ST S (content) WS P g s, ST feeh
it e e aged et W are afivdrem smen B, Sverd age il e
WHEEd FHA d HEiee FEEA TEUS O QERHeuTs FEu 984, 9i-ae, s,
AT, AN It T A T g e f ariote e fen adafimas e
IEaE.

I HFE GATE G EHe STEaTd ST (i1 60 ARt gifdaT S1gH!. 944 fedd 9@
2 St fam fega A, BUeE e ond weam. SRS SOATeR HE1E S SH Hee
Fa. g Fyeaers 3 fuaens a3 S e A9aTd. SEaH &9 9rTe 3 gt e
ER Frrearers e, 391, faemmeth fessrem o weeE. ® e e s T e
Tame, fo w3 an @ 3 @i, 39 |l we =, el 3gevst e A 3. amfas e @,
w1, qifeadt it arnfae Tamany s, TferE, JfeheT, 8T ST /s &
Jeear. 90 Famd e sged Ek, ff anga: SR swae. ad anedia i e
gt 8. e fafay genre amea. dslifa (Folkways), Serditld (Mores) R (Laws) 1
TYET T AR Sl R A, SR AEd @ sgedl adard e s anea
e v w0 J sETaeT S T S5 30§ gewar! e el e gr aredr.

33, TN FaaE w2 g9 389 ?

. AN SeAfaTs e
(1) ¥, Fagumam (2) &, 9, %, s aum am
(8) % a3 faum am (4) aa & faum I
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34. =W AR s g sEm 2

g, AFd wyEe

F.  Alqear goN

5. P Pm T R

(1) ¥ 7 foum <=t (2) ¥ for = &t foer SO @ Ra
(3) 3 omfor 4 & faum ate a7ga (4) 3t w & fram R s

35. G framn amfoe wmyRy S| FRm
.t FhAER S
9. TS gUNHIS Mo ey i B e
F. ol EISHHT SEAE
T, o omerm: SEH TR aEE

(1) wHd o (2) dAIH

(3) 9, %, § (4) A, ¥, %, 8
36. e e S e e o TEarE.

H.  HuE R

T, gEie geme Rr gey
%,  guEET o

. GHSE gEae

1) = (2) $9%8

8) I, 9% (4 H,9,H, 8
37. amfIs Frawam wem=r arEw g ?

a.  wmias g qwrEey

b. ettt

c. HHE HqE]

d. amfEes Ee

e. gl T

f o qEeE

g. WA

h. 3 Iaew

(1) b,d, g (2y ade

(3) cdh (4) 79 97=
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Questions number 38 to 43 :

Hyderabad sits nestled amongst one of the oldest rock systems of the world. These
granite rocks are 2500 million years old. Rain, sun and wind have for aeons, through their
collective and continuous physical and chemical actions, worked them into weird shapes.
Some appear perched upon each other so precariously that you feel some giant-children
playing at house making must have kept them there. From times immemorial they have
stayed like that without tumbling down. They will remain like that long after we are gone.

Golconda Fort was once a mere hillock, a hump of a giant camel, a mass of scattered
misshapen granite. [t was sheer wilderness. There cow and goatherds used to graze cattle
and sheep belonging to the nearby villages. It was so popular with graziers that it took the
name of ‘hillock of the graziers’ - Golla Konda in Telugu, the local language. Golla Konda
later on became ‘Goleonda’. Hyderabad is the daughter of Golconda Fort which stands in
ruins now, eight kilometres away from the centre of the city. The fort was built about a
thousand years ago. during the Kakatiya rule (AD 1000 — 1321) which had its capital at
Warangal — a aity about 150 kilometres to the north of Hyderabad.

Rudramba Devi, queen of the Kakatiya dynasty, ruled for 34 years from AD 1262 to
1296. She withstood the combined attacks of the Pandyas, the Yadavas and the Hoysalas
with the help of her grandsen, Prataparudradeva who succeeded her (AD 1296 — 1323).

He too was an illustrious ruler but was subjected to repeated attacks by the Sultans
of Delhi: there were five during the two decades after AD 1303. Finally, he was defeated by
Ulugh Khan, imprisoned and taken prisoner to Delhi. On the way he committed suicide.
Ulugh Khan later became the Sultan of Hindustan, and is known as Mohammad Tughlagq.
Since his empire had extended to the south, Delhi was no longer the centre of political
gravity. He, therefore, ordered that the capital of India be shifted from Delhi to Daulatabad.
For two decades this city remained the capital of India.

38.  Which of the following statements is false 7
(1) The granite rocks have been in existence for aeons.
(2) The forces of nature have worked the rocks into strange shapes.
(3) Giant children must have stacked the rocks precariously upon each other.

(4) Though the rocks are delicately balanced on each other, they are not likely to
tumble down soon.
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39. What is the meaning of the word ‘aeon’ used in the passage ?
(1) Hundreds of years (2) Thousands of years
(3) A million years (4) An eternity

40. About Hyderabad, the passage states that :
a. It was built about a thousand years ago.
b. It was built during the Kakatiya rule.
¢. It came into existence after Golconda was built.

d. It is to the south of Warangal.
(1) Only a and b are correct (2) Only ¢ and d are correct

(3) Only a, b and ¢ are correct (4) Onlyb, ¢ and d are correct

41. From the passage, it is clear that :
a. Rudramba Devi had at least one son.
b. Rudramba Devi was a widow.

¢. Rudramba Devi had at least one child.
(1) Only a is correct (2) Only a and b are correct

(3) Only cis correct (4) Only b and c are correct

42,  What is the word used in the passage that means ‘strange and ugly’ 7
(1) aeons (2}  weird

(3) precarious (4) misshapen

43, About Rudramba Devi, we learn that :
a.  She belonged to the Kakatiya dynasty.
b. The Pandyas and the Yadavas attacked her one after another.
c. Her grandson helped the Hoysalas.
d. Prataparudra defeated her and became king.

{1)> Onlya (2) Onlyaandb
(3) Onlya,bandc (4) All four
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Questions number 44 to 50 :

Love is a great force in private life; it is indeed the greatest of all things: but love in
public affairs does not work. It has been tried again and again, and it has always failed. The
idea that nations should love one another, or that business concerns or marketing boards
should love one another, or that a man in Portugal should love a man in Peru of whom he
has never heard — it is absurd, unreal, dangerous. It leads us into perilous and vague
sentimentalism. “Love is what is needed,” we chant, and then sit back and the world goes
on as before. The fact is we can love only what we know personally. And we cannot know
much. In public affairs, in the building of civilization, something much less dramatic and
emotional is needed, namely, tolerance. Tolerance is a very dull virtue. It is boring. It is
negative. It is merely putting up with people, being able to stand things. Yet it is the
quality which will be most needed after the war. This is the sound state of mind which we
are looking for. This is the only force which will enable different races and classes and
interests to settle down together to the work of reconstruction.

The world is very full of people — appallingly full: it has never been so full before,
and they are all tumbling over each other. Most of these people one doesn't know, and some
of them one doesn't like: doesn't like the colour of their skins, say, or the shapes of their
noses, or the way they talk, or their smell, or their clothes, and so on. Well, what is one to.
do ? There are two solutions. One of them is the Nazi solution. If you don't like people, kill
them, banish them. segregate them, and then strut up and down proclaiming that you are
the salt of the earth. The other way is much less thrilling, but it is on the whole the way of
the democracies, and I prefer it. If you don't like people, put up with them as well as you
" can, Don't try to love them: you can't, you'll only strain yourself. But try to tolerate them.
On the basis of that tolerance a civilized future may be built. Certainly I can see no other
foundation for a post-war world.

44,  The writer holds that love cannot form the basis of relationship among
a. Family members
b. Strangers
¢.  Neighbours
d. Business competitors
(1> Onlyaandb
{2) Onlycandd
{(3) Onlyb,candd
(4} Onlybandd
ST HETATA! AR / SPACE FOR ROUGH WORK P.T.O.
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45. The writer calls the idea of love among nations, business houses and strangers
“gbsurd, unreal and dangerous” because
a.  the expectation is unnatural
b. it leads to just feeling nice and nothing more
c. it may create groupings
d. it may lead to inactivity
(1} Onlya,bandc¢ {2) Onlyb,candd
(3) Onlya,bandd (4) All four
46. In comparison with love, the writer considers the virtue of tolerance as
a. lowinemotion b.  unpopular
c. dangerous d. negative
(1) onlyd (2) onlyaandd
(3) a,b,d (4) a,b,c d
47.  The writer suggests that if we don’t like some people, we should them.
(1) kil {2) banish
(3) avoid : {4) bear
48.  The theme of the passage is
(1) Love is not a remedy for the post-war world.
{2) Allowing space to others is the only remedy for the post-war world.
(3) We must first try to love; and if it doesn’t work, we must tolerate.
(4) Tolerance is an unattractive virtue.
49.  Which one of the following two statements is incorrect ?
a. In the post-war period if you like people — know them, love them.
b.  In the post-war period you should either love people or tolerate them.
{1} Onlya {2) Onlyb
{3) Neitheranorb {4) Bothaandb
50. What is the meaning of the word “appallingly” as used in the passage ?

(1) unpleasantly (2) abundantly
(3) appealingly (4) necessarily
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AN e S FeaAMa s A=l HG8E F7a7esl 371 3 T.C., C.A., E.E,,
S.M., P.M,, E.O,, R.O. 3T3a 3T q ATIR, STRIeN, STUEd), AR, Siearg, J0
™, Ft E.Q. 38, AU Yeial Jarer Heaad et Agagarar g0 39 Jay, e <
agior {1, R.O. =7 Y AL @1 Rid 31

e =1 udl, areRiem AN E.0. =41 yarel AR, g, S TW =1 WIS 18, = faam R.O.
died S TR,

g At EE. 3T df omuEdl 49 weid og. dehd, W SM. 1R, §ed 39
HRW IR, T T TS Fed, WA C.A. IR, S UHa g3 IR, T8 = 5=t P M,
CIE

W T.C. 9 S.M. ¥t 7 % ?

1
(2}
(3)
(4)

1493

In a family of seven members, the profession of each member is different and
they are T.C., C.A,, EE, SM,, PM., E.O, R.O. They live in different cities
namely Nagpur, Akola, Amravati, Sholapur, Kolhapur, Pune and Mumbai but
separately. Two married couples are in the family.

Rama, who is E.O., goes to Pune, every week to visit his wife Rima, the sister of
Sneha, is R.Q. at Nagpur.

Husband of Sheela is E.O. at Akola. Damu, the brother of Rama, has married a
R.O.

Brother-in-law of Sneha is E.E. and is working at Amravati. Pankaj, who is
S.M. is working at Mumbai. Damu's brother, Madan is C.A. at Solapur, who is
the son of Pankaj. Wife of Rama is not P.M.

Then, what is the relation of T.C. with S.M. ?

(1)
(2)
(3)
(4}

Sister-in-law
Daughter-in-law
Brother-in-law

Son-in-law
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52.  qEra mifa st @rax sria Fieen i smea. fua wfawn evfevm vl fesr
Irfea? ; Plivaage TaNH e S99y Searal e T g, T e SR s
g, @ FEdfle WA A& = SN STt OSEEEl W §97 o STEEEd anrEre S
O HOMT I o] AN §F AvEE. @ FF d S FE W@ HM S e o
FETEEGCHR FAET g AV, TRUE T Ao e SW @ aFaW 9 W gy
g .
?ﬁﬂﬂ?:
. e wrdd S| wen wH sEEn, Tt SEyE AEeeE T ABSE g9,
F. A Yge EeaEd TiTear ad FEET FHISE FOmT ) Fear qifye.
9
(1) wd i e A
(2) ad A T T § FHfeshn T e
(8) FT I T FHhrwd I TR
(4) REd & € HicsHA IR A7
Read the information and course of action based on it. Choose the option(s) that
indicate(s) appropriate course(s) of action.

Information : Inactivity produces a complex cascade of metabolic changes. Unused

muscles atrophy, and shift from endurance type muscle fibers, which can burn fat to

fast-twitch fibers that rely more strongly on glucose. Inactive muscles lose

mitochondria, power packs of the cell, which burn fat. With muscles relying more on

carbohydrates for what little work they are doing, unburned lipids accumulate and

blood becomes very fatty.

Courses of action :

a.  People should stop eating food that contains large amount of carbohydrates.

b.  People should avoid food that contains fats for reducing accumulation of fats in
blood.

c.  People should keep on doing activities that involve all muscles of the body for
remaining healthy.

Options :

(1) All three courses of action

(2) Only a and b follow

(3} Only a follows

(4) Only c follows
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53.  AETA TN THI HEH FAGA FAEH FEONAT QGH AEH GAHIAT e
Higder 9181 U4ThR TAR HUAE AT AR, HSdl TABNEld 188 I Hieshil Weoe! @i
U ZoEad. 2 SOUSdiY 9N #e A1 wHIeNEE fUsea 399, G fiEmH Jisd
WA S4TI9 G Jeala & oJrea] HUudier §a O e $hel. Ieiedl Th
Iy diF Hlehidt TAFH AT wHHI A TEET Thh T GHE gedid

ran 91 Tewmft e 8 o FeRm St g gaaun 9gE s,

(1) 49 (2) 50 (3 51 4> b2

Accompanying large cube is constructed by sticking small cubes of some nutrition
required by a species of insects under study. Dark places on the large cube indicate
small cubes eaten by insects. Four insects of two subspecies were placed in the cage
along with the cube. One insect attacked the cne corner of the large cube and ate all
cubes diagonally. Remaining three insects of one subspecies attacked one cube each
on different surfaces of the large cube. Each one of these ate a line of cubes in

respective layer of cubes,

Choose the option that indicates remaining number of cubes.

(1) 49 (2) 50 3y 51 (4) 52
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P, Q, R, S, T, U anfor Vay @ saad! Theural &0 wd ATed. HI8ET JHT HHOIEE! &t 1,
2 3nfir 3 77 IPRIE fINTRE FgTE e ga. T stEd 6 Tde Iyer fEne 3 e
FEdte 3 yee IPRT T off St 8. R & off g anfor faen P anfor T @ren tEsit
TR SEFASREL FH FES AR, S i U R 9 96w 397 91 %o Q 0K W Fst gt
T R, P o aifee suafietiet 17 wvars] g gl weea T 1 09w dJR. Vo
ad) T 3 HEA AR, A0 T & R WS TR,

1) 3 (2) 4
(3) 3 fFar 490 (4) il e s

Seven persons P, Q, R, S, T, U and V are working on a project. They decided to get
divided in groups 1, 2 and 3 for collection of data. They have decided that there
should be at least two persons in each sub-group and at least one woman in each
sub-group. R is & woman and she wanted to be with persons other than Pand T. S
and U, both men, wanted to have a chance to work only with Q. P wants to be in
group 1 to have a chance to work with an unfamiliar person. V is in group three and
T is the brother of R.

Choose the option that represents the number of women involved in the project
work.

(1) 3 , (2) 4
(3} Either 3or4 (4> Information is misleading

b5.

“M= Rt 7 1 27 I W= T oamndt “or snnfy < o wifkdf PR s Ay auie

R g3t fas.

A, Aem F a1 gad, o c@red gafser e goon 3g, W It o 53 e, i M
<1 =i 3z,

o W Farht R & wgerdt gt .

(1) o e wrfed Taf

@) o s ea el e g

(3)  “or” fhar “¥” TN FIEIET T A it

(4) o fopan & AHT hiorefd arfeed o e

Choose the option that describes correctly sufficiency of information “a” and “b” for

answering the question, ‘How is M related to R ?
a. A's brother, F, who is the only son of his parents, is marrled to W, who is M’s

sister.
b. W and F have a only daughter R.
(1} “a” alone is sufficient
(2) Both “a” and “b”" are sufficient
(3) Either “a” or “b” is sufficient
(4) Neither “a” nor “b” is sufficient
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FA, IR AT T AT FIF TN - BT SFeArT Fin a9 feen amd

deH >N, T, Y, AP F
Zar1 Y, T,F,AP,N
2> Y,P,F,T,AN
T3 ->P,F AT Y,N
T4 ->P,T,N,F, Y, A
ZWT5—)P,N,T,A,Y,F—>WW

W T AN ufge e a0, D, K, W, G, X 30 fieiew w3 s evanen
G, X, D, W, O, K a73il szeeen Wil sy 2o fHaer.

(1) 2u (2) 3 (3) 4 (4) &a1

A symbol arrangement mechanism rearranges the input of symbols in each step by
specific rules; the example of which is given below :

Input >N, T,Y,A P, F

Stepl =Y, T,F,A,P,N

Step2->Y,P,F, T, AN

Step3 >P,F,AT,Y,N

Step4—-P, T,N,F, Y, A

Step5 - P, N, T, A, Y, F o last arrangement

If the arrangement at the first step of some input is O, D, K, W, G, X, then choose
the step from the options that will display the arrangement G, X, D, W, O, K.

(1) 2nd (2) 3 (3) 4th (4) 5t
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57. R W A W& W I 23 96 I9een oM. SROSKITIEE Wievdd. SR w§ W9
Rarge atEs ® e frdt wgdi 391 wwr =y ang 0
(1 529 (2) 506 (3) 463 (4) 484

There are 23 buses available between Dinu’s house and his school. How many ways
are possible for Dinu to go from his house to school and return using different
buses ?

(1} 529 (2) 5086 (3) 463 (4) 484

58. fawiu 3 wala arr sove Sted aTdier Tefustas SavaETd o 9 quikmn 3fiE g
=

(1) D,50,A (2) B,49,A 3 C,50,A 4) C,51,B

Choose the appropriate set of numbers and alphabets that would replace the
question marks logically from triangle to outermost trapezoid.

(1} D,50,A 2y B,49,A 3) C,b0,A (4) C,51,B
FJEEGT BTATE! ST / SPACE FOR ROUGH WORK
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59, SN SREATAER SHIMET Soiear el o, Seican GRS shedt, 3ifan mieviedT S

7t e

A S AN AT A A S A A ST Y A

(2)

(4)

Both block objects are turned and repositioned as shown by arrows. Choose the
alternative that is like the final arrangement.

Ny G

(2)

(4}
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60. UH V&g Ga Farern fafye wmft feeama @ 93, & wowft fafe ammeR @ e
F, et feorelt gl anfor (3 warEET w9 T fese e

feerett womi
a1
qrrt 11
ard) T10 -

Ja Ma
Da Ja
Ha Da

Ja Ha

Da
Ma

Ch Ha

Ha Bo

Ja Ma Ka

Da Ka Ch

Bo Ka
Ka Ch

Ch Bo
Bo Ma 36 an yam.

i fedtean wmmfi=h @ 1T, ‘ga re bu la ra hi hai’ 3@, @ a9 yR=wdid FEAqER
Tl VID % awe ?

(1) ragahaihirelabu

(2) hairagabuhirela

(3) hirahaigalabure

(4) ra hai ga hi re la bu

A word arrangement machine when given a particular input, rearranges it, following
a particular rule. The following is the illustration of the input and the steps of

arrangement.

Input : Ja
Stepl : Da
StepIl : Ha
Siep I[IT: Ja

Ma Da

Ch

Ja Ma Ha

Da Ja

Ha Da

Ma
Ka

Ha Bo
Bo Ka
Ka Ch

Ch BRo

Ka
Ch
Bo

Ma and so on.

If ‘Step II’ of an input is ‘ga re bu la ra hi hai’, what would be the ‘Step VI, as per
the rule followed in the above steps 7

(1) ragahaihirelabu

(2) hairagabuhirela

(3) hirahaigalabure

(4) ra haiga hirelabu
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61, @l 9r faum onfor wm frewd 1, 11, 111 anfor IV fGeiet amga. fotewn fommmn wa w1,

feciran frseaithl ®var/snm e feoioa faume adama ST @) /F [, EEaet

I T4t et :

faem :

3. TS HUTE I TR,

§. I g% U4 3R,

F. 9 U At afga.

3. o9 el g R .

ey ;

L &R EE W %AE AR,

I % Frre Afeft amda.

M. w9 @ W 97 a77g.

IV. & 39 H07g a7,

(1) % 11 S7aT @l

(2) W 130T IV Sgeeor st

(3) e 11 AT [11 STERT e

4) L II, III 31fer IV, §a9 3Raeo g T

Four statements and four conclusions I, II, III and IV are given. Considering the

statements to be correct, select the correct alternative about the conclusion(s), which
is (are) logical deduction(s) of the given statements :

Staternents :

a.  All papers are books.

b.  Some books are pens.

c.  All pens are pencils.

d.  All pencils are erasers.
Conelusions :

I.  Some erasers are papers.
II.  Some papers are pencils.
III. All erasers are pens.

IV. Some pens are papers.

(1) Only II is deduced

{2) Only I and IV are deduced
{3) Only Il and IIT are deduced
(4) I, II III and 1V all are not deduced
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63. Taamd ges fa=t.

(1 (2)

(3)
Choose the odd object.

(1) (2}

(3) (4}
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64, IiEew Wy W, qE WMTaeTI) it faRes amea. ww I anfir 11 wvfe weg
anfor 3t =T N A oTRE, T . WEHE v Wegd ‘REACT 91 Y= 99T

Hehd feciean wfamg i
@yl Ty Il
TAPE moij
coup lhhpok
TIE nls
ROTATE nhpk

SAY nkpl
TREAT msr
YEAR khlph

SIP hrp

TYRE pmlh

(1) klpih (2) kplih
(3) kplhj (4) kpilh

The words in the first colum are written in a secret manner in the second colum. The
sequence of words and letters in columns I and II may not be the same. Decode the
language and find the sequential code of ‘REACT from the given options :

Column 1 Column 11
TAPE moij
COoUP Ihhpok
TIE nls
ROTATE nhpk
SAY nkpl
TREAT msr
YEAR khlph
SIP hrp
TYRE pmlh

(1) Kklpih (2) kplih
(3) kplhj (4) kpilh

o] BTHITS! ST / SPACE FOR ROUGH WORK
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Z56

Oy

?

3%

iy ;

NRS

126

NZ S

NR I

1)

Select a suitable image from the options that would replace the question mark.

(2)

(3)

4)

Cvs

?

1%6

NZS

(L

(2)

(3)
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66. T2 ey quivmwia wicea, s e el It Gerer A= g e @

IACH SEEET 7, F-@relt goardt e sedet Wit e,

CY, EV, LS, RdJ, WM, DJ

HA, LD, OG, QP, VM, ZP

(1) LS, 0G

(2) RJ,QP

(3) WM, DJ

{4) VM, ZP

In the following alphabetical sequences below, one pair that appears in the top
sequence should appear in the bottom sequence and viece versa. Choose the
alternative pair that should be changed around.

CY, EV, LS, RJ, WM, DJ
HA, LD, OG, QP, VM, ZP
(1) LS,0G
(2) RJ,QP
3 WM, DJ
4) VM, ZP

67. u Al whidRl Waw wivfawd e gear. 3 Huren mgonel!, S g Ao e WY
&om @ geahe Ael 9% WY adia. T ArEETeee Gi@ W9 Al fd W JEAmRsY WY
TS Bidte,’ o7 ot Bare firem. w o1fr wneltwd firem Rred W9 e = w@
T FH oyEd. R GRS Tvm 9n o = wude onfr 3 et fiem 149 = s

7 ENTenRs TR &9 oTmed ¢
(1) 27 2y 29
3) 31 (4) 43

Five friends were discussing about their treasure of stamps. Anu said to Deepa, ‘If
you give me eight stamps then you will have the same number of stamps that Lali
has. If I give you my sixteen stamps then you will have stamps equal to those of
Shama.’ Total number of stamps that Anu and Deepa have is less than the number
of stamps that Shama and Lali have. If Deepa has four stamps less than those of
Mary and the total stamps that all these friends have is 149, then how many stamps
does Deepa have ?

(1 27 ' (2) 29
3y 3 (4) 43
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68, ToEriaTE Sele F ot g fiey Wi wig, fou figd w sde wig, =W
fiom = wrfiet w2 anfr W 9T fioy % fteem Wi, ayEm o 108 st e
rTEd. A HVETE TgY W e o FHT geen Al ol TRw fedl fgfvm femmen
Jufeds B ? |
(1) 30 (2) 860 {3y 90 {4) 120

Relatives who had gathered for a party had one bowl of rice between two, one bowl of
dal among three, one bow! of vegetable among five and one bow! of shreekhand
among six. In all they ordered 108 bowls of eatables; and no food was wasted or was
it short. How many relatives were present for the party ?

(1) 30 (2) 60 (3) 90 4y 120

69. AN G WM IR IEEHE FIeTRT Tl AR,
PATNWGXMQIRCHKJSYULZVBFO
o7 :POZT, ?, HYJR, LCRU

() MUJG @ XVUG
{3) GVUG 4) XVYW

A series of group of letters is designed using the following sequence of letiers.
PATNWGXMQIRCHKJSYULZVBFO

Series:POZT, ?, HYJR, LCRU

Choose the logical option to replace the question mark ?

(1) MUJG 2y XVUG

3 GVUG 4 XVYW

70, g fegoar fete sy TR, AN 99 TegeAl 94T GO 3. W M =R a9
THT Heht Yy A faee fed, S e § 70 de, 9 fesua Higdl Fderdl
T, 1 Teglan g 9t HieT g = 91 faR 2

) 5 2y 7
3 9 4y 11

Jay is three times older than Gave, Aman’s age is twice of that of Gave. Addition of
Jaya’s and Aman's age is half of Shammi's age. If Shammi’s age is 70, then what is
the age of Dyan who is two years older to Gave ?

(1) 5 -2 7
3} 9 4) 11
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7. R UM aage ¥, § 3 F § THar feht e, g ¥ e 3 TS v Aeesh
mm&mﬁéwﬁumaﬁamm?@awﬁmﬁmwmﬁﬁ
s FaEet o,

ez 2 gftaiaen sifi e ToE R “x” W ST 9 SR,

e :

A, “x” ugmEn wivid wee Wt T

¥, Faevehig v 60% TagRIHY A e

®. AR “x” vETen ga il wra we <x” sere Fasus S fawm dae.
(1) Wed ¥ T % Aq-ed Hed (2) W 9o F g R

(3) | SwiHET amad (4) I T A TR

Below is given a statement followed by assumptions a, b and c. You have to consider
the statement and the following assumptions to be true and decide which of the
assumptions is implicit in the statement and choose your eption accordingly.

“ ,}

Statement : More than two-third of Pariament members are members of party “x
Assumptions :

a.  None of the members of party “x” is corrupt.

b.  Only 60% of voters cast their votes in the election.

c.  People voted for party “x” because they believed in the election manifesto of the

party “x”
(1) Only a and ¢ are implicit (2)  Only b and ¢ are implicit
(3) All are implicit (4) None of these is implicit

72. @9F, T 36,000 fhHa sworEt TR fGwar. @ ufgewm 20,000 F9@iET 8% g @ anifh
Jaen 10,000 TR 5% Hg 2d. T AR 7% §Z 4R WU AR W
Fresfevmandt vl 6,000 Fwmar == fedt 92 T 2
1) 5% (2) 6%

3 7% (4) 8%
Deepak sells a scooter priced at ¥ 36,000. He gives a discount of 8% on the first

% 20,000 and 5% on the next T 10,000. How much discount should he offer on the
remaining T 6,000 if he is to allow 7% discount on the total 7

1) 5% (2) 6%
3y 7% (4) 8%
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73. T 59, 4 e anfn 6 fies < ame. @1 R semyssR &9 9 Fee. 3 w9y
2 Faurt Yureym FEfim wom vaig e
1) 1/91 2y 2/91
3) 3/91 4) 4/77

There are 5 white, 4 red, and 6 blue balls in the bag. Three balls are drawn at
random from the bag. Choose the option that represents the probability that all of
them are blue,

1 1/91 (2) 2/91

3) 3/91 4) 4177

74. 2000 Tl T &9 TR Far @ 2001 Felt vomEwT 29 S Ta g 2
(1) ¥HEOR
(2) TR
(38) AR
4) dEm
If Teacher's Day was on Thursday in the year 2000, then the Republic Day was on
which day in the year 2001 ?
(1} Wednesday
(2) Thursday
(3) Friday
(4) Sunday

75. T oi¢ fomm 7@ foR smar 320 fedanht S S, @ 40 fedivanht e wem e
R, ATEEN gaeAl AU faRen aen wvaw w135 W @veE, @ Rmmren i
e g fed amn Fwaw R wes (fufrem) ema 2 (Igem @ JfEFEE duam arm

d5 AT 7 )
(1) 945 (2) 105
(3) 108125 (4) 120

A small aeroplane can travel at 320 km/hour in still air. The wind is blowing at a
constant speed of 40 kmvhr. The total time for a journey against the wind is
135 minutes. What will be the time taken in minutes for the return journey with the
wind ? (Ignore take-off and landing time)
(1) 94-5 (2) 105
(3) 108125 (4) 120
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76. gl WA Uk <Hed My AV e TR ol =ed! @ Indliieeddl AY wEE.
) 9 ehre T i Pt % 18 e, fwrmdia o Feeer s
o Rerndics T wRTEaeRT=a AHifas- favenen ot aReen s % HEard TaR
HOA! BTG, A HEr=A HUR T8
(1) wm@@mmqﬁ@ﬁmmmmmm

BITE .

(2) NuPes SEaA AgdA 91 SRR Fioeg S 35E T .
(3) Wmmwﬁmem@mﬂmﬁammw

(4 mmwﬁ@ﬁmwmmmmﬁﬁmmmaﬁw

There is temple in your area and many different gender persons reside in this area
for making their living by exhorting money by creating fear in the minds of other
people. As a responsible officer of the area you request the head of the Psychology
Department of one college in the district to study the problem and prepare a report.
On the basis of this report you will

(1) approach responsible institutions for organizing programmes to make people
aware of this situation.

(2) with the help of educational institutions organize skill training programmes for
these people.

(3) approach leaders of these persons and with the help of experts help them to
acquire skills and become entrepreneurs,

(4) approach leaders of these people and ask them to stop inculcating superstitions
in the minds of people.

77. OO Fuldie] T oawh! Sied STl OEA HVIE! Tk oWkl g@dl HAIl 6. el
m%ﬂzma—ﬁwﬁiﬂwm e YEUsIaE o S 9 Ml
HET HAE. I G,

(1) =1 7Ta TRt FomR AT S0 T S,

(2) @1 et B wue Il geg geg AT T ANPR SAKIAH HE aed HOA B THE
AT 9 T,

(3) I 2 SR B wra oY =T wTelE anuR wier anfYr s W Al aee
TRWITIRLT ATEaTe.,

(4) T AN A TN TR AU HEAPETT IEeT qeq Suarardl s
a@ﬁam@m?ﬁﬁq?ﬁw

In your office there is one person of a different race and another person from a

different religion. A group of your colleagues make fun of them due to their

appearance and way of dressing and make them uncomfortable. You will,

(1} not join this group and keep quiet.

(2) befriend this group and slowly help them understand how a person feels of this
treatment.

(3) Dbefriend both these persons and give them emotional support and save them
from taking any extreme step.

(4) request your seniors to organize some programme to help them to be
empathetic with all persons.
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78. el ¥ wETa Faden srEm A J9 gent aftn 7 gt e Aol st gae s
FAY AUHW HA R 9 HiaT FHAS AR, FEEl AR A FOGH], TR R FHH qIEE
JWAAT ARIATHS end degl o7 graTer @RS 1 foen Hivddl W FEeaw @ &
EIFIfRIIT HTE Feft T THUR A, fI greren e wifeet # Tgan e s sdy
HME FEUN I HEA IS BRI FHT SIE . THE TR,

(1) 37 rfierrgrsm Sre greay Ft T ForE iy Rl = dieen $ie S,

(2) TR, G AT IR @y FiusEe 4 SIae S ST
ugden falm gyl She 9 s vl gevETq @ e qremTgy TETiE e

(3) 7B, gErl MU Ay HEGT AT HUTIT AT I0g Ja=dl a Fa: < FEEgE 9

4) vRfera o9 € @ I FF TEA g g AT AJYLE FEH HO

You are residing in the area where many leaders and goons are engaged in illegal
constructions and hawking by pressurising civil officers. When you went te lodge a
complaint with the officer in charge she told you that she is not in a position to take
any action for want of any protection against these people. She also tells you that
government usually makes such types of illegal work legal by making necessary
changes in the laws. You will,

(1) blacken the face of the officer for protesting against inaction on her part under
some pretext or the other.

(2) publish articles and cartoons in lecal newspapers and through social media
about the trend of government giving protection to illegal constructions and
hawking on private lands.

(3) organise pressure groups against nexus of goons, leaders, and people getting
profits through illegal constructions and officers who are not ready to execute
their responsibilities,

(4) frustrated with the situation you will join a yoga ¢lass and stop worrying about
the mess around you.
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79. T 3 gEen AR frsden e o e e enfur greT St TR e
TS AT TAvEden Tt e o, & e st gEea weves s R
amg. gEeh A A greAmaRE www s, @ of@ wEen ool s W wmden
digravETd it enftr foem $gen @ Fw AR e, @1 fireedh fon gwe e
afor & T arme g% 391 Aga.

(1) g yemsiten SR e s g Afioie s frg .

2) ﬁgﬁ@%ﬁmmm&mwﬁﬁaﬁﬁmﬁﬁ?ﬁwgﬁmﬁﬁvﬂmﬁmﬁw
faredt .

(3) R quet Frag el w g wieme s g #ffien snfife nem .

(4) R s Welt @ O sqadin wiEwem, gewrft w% T el faadt s, anfi
APofl M Sgeag anfds wag e,

You and your friend had applied for one prestigious scholarship and you have been
invited for interview for selecting one among you. This scholarship is an indication of
your academic capabilities. Your friend is equally competent. She comes from a
disadvantaged group and she and her family worked very hard to reach this stage.
She is in dire need of this scholorship and only then can she continue with her

studies. You will
(1) not appear for the interview and allow your friend to get the scholarship.

{2} appear for the interview and if selected request the committee to award it to

your friend by considering it as a special case.
{8} accept the scholarship if selected and help your friend financially.

{4) request the committee to allow both the persons to share the award if selected

and help your friend financially if necessary.
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80. T freafpdt g greame ffide get Real 83w ovs @l
OIS AT TR ATed ARd. JEETEN Wi R st Wi @ wEifEed dhieesede
Rl ST FITEETE AT IEHAN Jaad TR 6 S e I st TRy
TG 30T, WIS R I WO, AN Holeh & Sigeh hrATS AW gl S
foFmlt yafga @i, oviw e frmefl @ w1 9 wEriemeRren we s s o
Frormd wReEiE 9FaE T W et @ wEq ST, qeR e HR 9
T VST T ?

(1) I B A9 e TR A Tiehe T STEedn HUe.

(2) A IS FEUTAAT T2 Sgh! FAERT FEA, AT @A T Hulea wEer 95d 33,
fafay gan Qoo deram vl fatas s g STEen aeeE w0,

&) mﬁmmﬁﬁwmagﬁﬁ@gwﬁmm
HTAid TEHT FEA TFAT G,

(4) T 7 qefin Sfem Yeue oo g Ta.

As the Collector of the area you have received many complaints of eve-teasing by
teenagers from many groups of society. You are familiar with the fact that schools
and colleges fail to engage adolescent students in any constructive learning
programme that channelizes their energies in some personally fulfilling and socially
useful, creatively and intellectually demanding work. Many of the adolescents are
out of the schools and colleges, they dream of a wealthy and comfortable life without
any effort. What will be your priority to solve this problem ?

(1) Arrange for police protection in the areas where this menace is rampant.

{2) Arrange group meetings of eve-teasers, help them to organise groups and assist
them to engage in constructive work in the area with the help of various youth
schemes.

(3) Request selected non-government organizations to involve eve-teasers in some

constructive social work.

(4) Suggest the women and girls to dress appropriately.
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(8) wrgErHned faftm Serewr fire Jrfle $=9 W (W6 %) +@. FEYREReATAiET JTufbat 91 3
FIER T FH HedTd d FidT TG R Hel 3E, I TS T T AR I TETH
T Feem olamed gom=n T yhey weaEEae sfufe-827 Al wader FRaT
FwTg A 7 Il Sy T TH GNTeA HREETSA 0/ e T s 9N = derear g
LIER

(9) W TvufiHad! wEmme fafta St 9@ drera g @ Ty WA g
Ao VA AN FR. W GRUTRTER ATvarge] WA Haedn  watyRE A1

TR YThRS F Tawar g & avas AT,
ol fell HRel
¥ %. 201, TR TR A% FHOAEE HIVH qEa; 0 Fe ?
(1) @l g S 2) FeaEg frmerR
(3) TS A T (4) TATeEFHE MEH

W YN Ag I C(3) T IR T A Y. WS ¥ W S (3 g,
AT GO ¥ . 201 GO IOUETE @) 2 ad@ [T BrEied A
TrAfqu sEwE 3.

w21 O @ @ @

I YgdH WD FEYTRdIT T WA O SR g qreTe e giaded
T W1 YITEY |t aTad, Uieet a7 9mde o e .
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